
Le nombre du jour

R
eC

re
at
is
se
.c
o
m

…………………………….



41

41 + 1 = …..

41 – 1  …..

41 + 10 = …..

41 – 10 = …..

41 + 100 = …..

R
eC

re
at
is
se

quarante et un 

40
…….. ……..

42

42 + 1 = …..

42 – 1  …..

42 + 10 = …..

42 – 10 = …..

42 + 100 = …..

R
eC

re
at
is
se

quarante - deux 

40…….. ……..

41 = …. + …. + …. + …. + ….
41 = …. + ….

42 = …. + …. + …. + …. + ….
42 = …. + ….



43

43 + 1 = …..

43 – 1  …..

43 + 10 = …..

43 – 10 = …..

43 + 100 = …..

R
eC

re
at
is
se

quarante - trois 

40
…….. ……..

44

44 + 1 = …..

44 – 1  …..

44 + 10 = …..

44 – 10 = …..

44 + 100 = …..

R
eC

re
at
is
se

quarante - quatre 

40……..

43 = …. + …. + …. + …. + ….
43 = …. + ….

44 = …. + …. + …. + …. + ….
44 = …. + ….

……..
……..



45

45 + 1 = …..

45 – 1  …..

45 + 10 = …..

45 – 10 = …..

45 + 100 = …..

R
eC

re
at
is
se

quarante - cinq 

40 ……..……..

46

46 + 1 = …..

46 – 1  …..

46 + 10 = …..

46 – 10 = …..

46 + 100 = …..

R
eC

re
at
is
se

quarante - six 

40……..

45 = …. + …. + …. + …. + ….
45 = …. + ….

46 = …. + …. + …. + …. + ….
46 = …. + ….

……..

……..

……..



47

47 + 1 = …..

47 – 1  …..

47 + 10 = …..

47 – 10 = …..

47 + 100 = …..

R
eC

re
at
is
se

quarante - sept 

50 ……..……..

48

48 + 1 = …..

48 – 1  …..

48 + 10 = …..

48 – 10 = …..

48 + 100 = …..

R
eC

re
at
is
se

quarante - huit 

45……..

47 = …. + …. + …. + …. + ….
47 = …. + ….

48 = …. + …. + …. + …. + ….
48 = …. + ….

……..

……..……..
……..



49

49 + 1 = …..

49 – 1  …..

49 + 10 = …..

49 – 10 = …..

49 + 100 = …..

R
eC

re
at
is
se

quarante - neuf 

50 ……..……..

50

50 + 1 = …..

50 – 1  …..

50 + 10 = …..

50 – 10 = …..

50 + 100 = …..

double : …..
moitié : .….

R
eC

re
at
is
se

cinquante 

49 = …. + …. + …. + …. + ….
49 = …. + ….

50 = …. + …. + …. + …. + ….
50 = …. + ….

……..

50


